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(i) (1,1,-3,0,4),(2, -1, -4, —6,2), (0,-3,2,-6,—6)
(ii)

(1,1,-3,0).(2, -1, -4, -6),(0, -3,2, -1)
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(b) Use Gaussian Elimination method to solve the given system or show that no

solution exists.

X, +2x; —4x3 =9
5x; —x3+2x3=1

\ i I,Nw 9 Q. -SSR, \ 2 =4 9 v
—
5 = 51 | O -\ 22 -4&
VRS L2 -4 g
=2 © | -2 4

/va# Ly = \Eu».p\v

v L) ~&b =T = |x =1

©

King Fahd University of Petroleum and Minerals

MATH-302

Quiz 3
Name:- 1D:-

Sec.:01

M Let S={(x,y,z,)ix+y=12 z=5t}.
(a) Show that S is a subspace of R*
(b) Find a basis and the dimension of S.
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